(A) i gt
© g &)
9, ‘ardur’ F fael v ARy
(A) STTHE @)
(C) famem ) i
3. ﬁwrl%«rﬁaaﬁﬁﬁwwqm%7 FE
(A) 3Hfd ) (B)' Afd
4. ﬁwﬁmﬁﬁmwaﬁw%7 .
(A s - . (B
(C) W T (D)
5. Freitan § ¥ 1S A SEEE | |
(A) ST afeeT @ STeT % AR TRAAAMBE |
(C) omemwred AT FWAL _ ot e 1 AT WA AR
6. ﬁrsrf‘aﬁaﬂﬁ@trgwm B 3 |
(A) T e
(C) TS

7. ‘wig W g FAL FE 2
(A) ﬁa”rﬂmwﬁﬁmwm (B). g Hrd
(C) WATHL1's do |t (D) Wmm

8. ‘'wa g @A mmaﬂaﬂwaﬁm | .
(A) T (B) wiwmerd

(C) frufiw - (D) st

9. ‘ﬁﬁ%wmﬁ'mmqﬁm%7 L
- (B) ‘ﬂm

(A) =T
(C)
10. ‘<l m%ﬁ«wﬁﬂﬁ aﬁ 4
(A) e S
(©) &1 3
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11. ‘oexe’ i # HIAEI S9HH ® ?

(A) anfy (B) srem
(C) ¥ (D) =ty
12, ‘vavEe’ v § PG TET ¥ 2
(A) 2 A (B) e
(C) smee D) &
13, ‘TR W 1 B h-frede Wl & 7
(A) H:+ &R (B) ¥H:+ 3R
(C) 799 + &R (D) 7+ 9&hR
14. '=f/’ v ft WS s RAS Y 2
(A) FafrEs (B) daferraman
(C) =fwa (D) =fRr
15. wﬁﬁﬁm@hw%?
(A) sTiR-fat A (B)., A NI
(C) favasm (D). wrarFadttean faerfaes
16. ecrrard @ firsa 2§ 2
(A) 2= ' (B) tw@H
(C) g™ (D) FoE™
17. ‘ofEE’ w1 s g2
(A) ‘maT (B) WS
(C) =g (D) feral
18. FW d Y& o1 AW I AH AR ¢
(A) TR o (B) feferl
(C) ®® (D) wvEE
19. ‘fafereen @l @wita & fora & & wfafseq § 2 |
(A) Ve A (B) WA
(C) ww&m arA (D) it AR
20. ‘mwmﬁ,ﬁﬂw—ﬁwqﬁ:quqmi,ﬁ?ﬁm?ﬁ’—ﬁaﬁ?mm%;
(A)  srgom (B) ST
C) Tu= \ (D) A9

CCB-21 . 8911~ page-6 | B-



21.

22,

23.

24,

Roots of quadratic equation x2 — 3 _ 10 - 0 are :
(A) 5,-2 ' B) 2,1
1 3 ' ‘

e TRt > — 8x— 10 = 0 % Tt 1y 43y 2

(A) 5,-2 B) 2, -1
1 3 | |

(C) 372 D) 1,3

A quadratic equation ax? + bx + ¢ = 0 has two equal roots if :

(A) bP-4ac>0 - o (B\) b2 —4ac=0
(C) bP-4ac<0 | (D) None of these
@ﬁqﬁma)?+bx+c O%Q’twmwﬁﬁﬂﬁ:
(A) b?—-4ac>0 ; B8) b*-4ac=0
(C) pP-4ac<0 (D) T Q S e

30th term of the A.P.: 10,7, 4, ..... iS:

(A) 96 (B) 97
(C) -77 | (D) -87
AP.:10,7,4,... ®130aTqgFaerm ?

(A) 96 (B) 97
(C) -77 (D) -87

Sum of first 10terms of the A.P.: 2.7, 12, __is:

(A) 95 | B) —-g5
(C) 100 (D) 245
AP.:2,7,12, ..... & 5a.10 T ¥ TR 0y 5

(A) 95 B) —g5
(C) 100 (D) 245

B-Set 8911 ~page-g
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25. Ifa, b, carein A.P.then:
_a+c¢ _2a+c
(A) b= 2 B) b= 5
(C) b___a+22c (D) b=a_;£
afc a, b, cAP. AR :
w b= ®) b=22"°
©) b=a+220, D) b=a_;g
26. Distance between points (4, 2) anq (—1 ,=1)is:
A) 32 (B) —J3a
(C) 43 (D) Va3
Q fagadi (4, 2) 3R (-1, —1) & e it g F A 2
(A) 34 B) 34
(C) 43 (D) -43
27. Coordinates of the ponnt Wthh divides the line segment joining the points (-1,7) and
(4,-3)intheratio2:3 lnternally, is:
(A) (-7,3) h ® (7.-3)
© (1,-9) | o) (1,3)
wﬁ%*ﬁ%&ﬁwﬁlﬁﬁﬁg&h (=1,7) 3k (4, .—3)3?:?:?!39!31%%@@33% mmﬂ
2 : 3 & U # fawfsa hasl 2.
(A) (=7.3) B -3)°
© (1.-3) o) (1.9



28. Value of cosec 31°—sec 59°is :

29.

30.

(A) not defined SR
() 0 | ) -
cosec 31° — sec 59° 1 HH B : | \
(A) sTfta (B) 1
@ o ) -1

Value of sec? 0 - tan26is :

(A) O . B) 1

C) — h p exams. m not defined
sec? 6 — tan? @ 1 9 B

(A) 0 | B) 1
©) -1 (D) Ry

Length of an arc of a sector of angle 6 in circle of radius ris :

(A -3—ngan e (B) é%xnﬂ
© 5a5*™r O g
mrﬁwmqﬁmea@ﬁwﬁﬁrmmaﬁa%gm,
A) % x 2nr (B) SOTOXR;';
(C) §%axnr | | (D) ?gaxZurz

s

B~Set 8911 —page.11 - _
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31. Surface area of a cuboid IS *
(A) 2nr(r+h) B) 2(b+ bh+ hi)
) nrl ©) nr(r+1)
Y o el T 4 8 € 2
(A) - 2nr(r+h) ; (B) 2(lb+ bh+ hl)
C) =rl D) nmr(r+1)
32. In mathemaﬁcs test given to 15 students, the following marks (out of 100) are recorded
41, 39, 48, 52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60 mode of this data is :
(A) 40 (B) 52
(C) 96 (D) 98
wrumaﬁqﬁmmmaﬁﬁﬁuooﬁ)‘hqfaf@a siw wra f 41, 39, 48, 52, 46, 62, 54,
40, 96, 52, 98, 40, 42, 52, 60, swa%éa‘ragwm
(A) 40 (B) 52
(C) 96 (D) 98
33. Savita and Kiran are fri?pds. Then probability that both will have the same birthday
(ignoring a leap year) is :
(A) 1 : (B) ‘73'2_5'
©) e | al
365 (D) 365
e e <1 08 1 5t e o 1 e o R (e e )
®) 1 " 2
(B) 385
©) oo 1
(D) 365
CCB-21 | 89]?__ page-12 ‘-.B_:gg



34. A bag contains 3 red balls and 5 p|

ack bajis, A pall is drawn at random from th@ bag.
Then the probablllty that the ball ¢ :

1 fawn is not red is :
o 5
A 3 | ® 3
3
© 5 o 5
g;ﬁgjsa%a;\xsmﬁe%n m%ﬁ@@mq@mﬁm@m%l T TR
A $
1 5
3 1
© 3 o -
35. The probability of impossible event is : 1
(A) 0 ® 3
Cc) -1 (D) 1
SR HZAT Y WiThar F1 Bt & 2 oy
(A) © S )
(C) 1 ®) 1

36. The empirical relationsﬁip between Mean (M), Median (M) and que (M) is :

(A) 3M=M+2M e (B). 3M=M+2M "
: ‘R A0 BN NG
() 3M=M+2M () M=M+f
e (M), wreas (M) iR sge (M) %@ﬁm: |
(A) 3M= l\7|+2l\7l ~ " (B) 3M=M4+2M
- © 3M = M+2M D) M=M+M
: ?737 In real number systemms Lraes . mis
(A) Natural number. (B) Wh¢?|e number
(C) Rational number (D) Irrational number
: u@fﬂ'ﬁ:@r (B) yui v
22)) o e D) sRdmen

e pni-pemn




38. If o and B are two zeros of QUATTNC oy oy L cthen o is dval to/

39.

/

/

w2 ® <
© = CE:
i fye AgeE @ + bx+ ¢ % T 0 R B & & o g gm 2
™ . ® °
© - . o =

A trinomial has how many terms ?

@ 1 B) 2
(C) 4 ' ©) 3
o forodts s ey A # 7 .
(A) 1 B) 2

(D) 3

© 4 , | o

If a pair of linear equations given by(azi})w b,y+ ¢, =0and a,x+b,y+c,=0, then this

e

pair of linear equations is consistent if :

by c¢

2 b & _H_ &

(A) az;tbz ' ‘ (B) ‘ay b2 Cs
(C) -2 (D) None of these

C4 ©Co
3 faq e aw vt a x + b1y+c -.oaﬁ'{azx+ b2y+ Cp = Oﬁmmgﬂ
ﬁw&am%ammﬁmmmﬂm

2 by & _ b ¢
A 3, #* by ® 2 b ¢02
o A._2 .
© & 7%, (p) FEIRET

CCB-21 Slopmgetd B-




41. In which year were the first elections to vjgpan Sabha held in Himachal H{adeéh:?
(A) 1954

() 1960
(C) 1951 (D) 1968
feereer 21 PR T8 ST T
(A) 1954 &) 1960
(C) 1951 ) 1968

42. Who has been appointed as 48th Chief Justice of India ?

(A) Arvind Bobde

(8) N.V. Ramana
(C) Deepak Misra

(D) Tirath Singh Thakur
WIRA 1 4881 e =ty f =1 mn o 2

(A)  srfae = B) T T
(C) <iuss fasm (D). iee e
43. Which Constitutional amendment' of . Inman Constitution is known as’ ‘Mih*i
Constitution’ ? (2 =2
(A) 42nd (B) 57th
(C) 43rd (D) 2sth
IR wfaur & fFa dfaum deiem ® oy SR S Ty ey o
(A) 42at B) 574 |
(C) 43t

(D) 29t

Who is currently holding office of Governor of Reserve Bank of India 7'

(A) Uriit Patel B) T.V.Somanathan
(C) Nirmla Sitaraman (D) Shaktikénta Das
e 3 s o S B e T A IR g )

(A) 3@ w2«
(C) favien dHrarmw

B-Set
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Paralympics 2020-W#a# bﬁldfjf? which Country 7

9. ) (B) Taiwan et
(A) Kuwait
(C) Malaysia (D) Japan
v 2020 fivw 3 4 SR R T 2 i
A) T (B) dmam
(C) = D) mm
46. Who has been appointed as 46th President of United States of America ?
(A) Kamala Harris (B) Barack Obama
(C) Joe Biden (D) Donald Trump
HYH T AR Hi 4651 Tl HA A T 2 |
(A) wuen 2™ (B) = sfam
(C) <t fae= (D) <FTEE U
47. Which one is the biggest natural lake in Himachal Pradesh ?
(A) Renuka Lake (B) Rewalsar Lake
(C) KhajiarLake . - . (D) Brighu Lake
fereret St H w9 T e el & 2
(A) TR e T (B) (@™ 3
(C) w3 et St o (D) yiE
48. According to 2011 census which gistrict of Himachal Pradesh has lowest female
literacy rate ?
) . Kulh ~ (B) Lahaul Spit
(C) Chamba ) (D) Sirmaur
2:11 ﬁm%mmﬁmémﬁéﬁmmmwmm% ?
fc; - . () i =i
(D) fawir
CCB-21 o ———
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49. | Rohtang Pass connects the Kullu Valig, With which Valley'?

“'(A) Joginder Nagar Valley (8) Kangra Valley
(C) Lahaul and Spiti Valley | (D) Satluj Valley .
i = ey A ) o A A e ki
(A) fT=R TR wEd  (B) FHiTS! Tl

(C) v iR wifa =t (D) waer W

50. Who is Secretary General of the United Nation ?

(A) Anténio Guterres (B) Ban Ki-moor;.
(C) KurtWaldheim (D) Kofi Annan ;=
W g 1 wereieas A § ?
(A) TeRfrh T - (B TR

(C) =< arceerH ; @?ﬁ*ﬁf A

51. Which is the oldest tiger reserve in I_ndia ?.

(A) Melghat - (B) Periyar

(C) Dudhwa BT | (D) Jim Corbett::-:
YRA § gad AT TFR ﬁsﬁf HAER ? |

(A) HemE 0 (B) ¥

(C) g - (D) fom =z

52. Which part of Indian Constitution is called as Soulof the Constitution ? #

(A) Article-14 | (B) Article-32
(C) Article-29 (D) Article-52
e e 3 o fied ) afere i A g ¥
(A) FTER-14 (B) orpede-32
©) K29 | O msz
- 8911 —page-19 —
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Which Five Ye&r Plan ls.:being lmplemented at present in India?"

53.
(A) Ninth (B) Eleventh
(C) Fourteenth L (D) Sixth
e 3 v 8 e S AT T 7 g
(A) et (B) awedt
(C) et (D) oot

54. Who is the ex-officio Chairman of the NIT| Aayog ?

(A) Amitabh Kant (B) Rajeev Kumar
(C) NarendraModi - (D) Kiren Rijiju -
Hfer T R eAH B ¥ ?

(A) ST Hrd (B) Trsita FAR

(C) R=EHARA (D) fta fifory

55. Which among the following was the last ruler of Gupta Empire ? ,

(A) Chandraguptall (B) Vishnugupta
(C) Kumaraguptall . (D) Buddhagupta
T WS 1 A W Frefafan i @A @ 2

(A) ==l - (B) foorT=

(C) Fo<ll . (D) I&TA

56. Neeraj Chopra in 2020 Olympics won gold medal in which game ?

(A) Wrestling () Weightlifting
(C) Javelin throw - (D) Discus throw
|9 2020 # mﬁﬁ‘%m»qmmm@ﬁﬁm ?
(A) Tl . B) R
(C) wiIen % D) =T N
CCB-21 - | — B-Set
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57. Temperature at which centigrade and Fahrenheit thermometer r eads same :

58.

59.

61.

(A) 40°C (B) —40°C

(C) 273°C (D) 100°C

iR AT W FEE T ERAEEE THHI T g & 7

(A) 40°C (B) —40°C

(C) 273°C (D) 100°C

Air bubble in water behave as :

(A) Concave lens B) Convex lens

(C) Plane lens (D) -Plano convex:lens

Tt & T B GATA oo AT SRR HAl ¥ |

(A) rEae i (B) wuwt o

(C) wwHaw o ® (D) I A A

Which of the following is used for determination of age of materials that were once
alive ? R N \

(A) Na11 (B)\ W14

(C) Ca20 (D) Ci4

freferfaa & § frge STar 37 amiEl #1 oy fufo & fag fr s & st & sifaa of 2
(A) Na11 | (B) N14 |
'(C) Ca20 | | (D) C14

Who is considered as father of Biology ?

(A) Socrates (B) Aristotle

(C) Birbal Sahani (D) J.C.Bose
- faeH & S P AR I E ?
(A) gHIAa (B) 3w

(D). 3.8 9w

(C) iteen AreHt

Which is the largest and strongest boné in the human body ?
(A) Femur - (B) Sesamoid bone

- (D) None of thgse
(C) Axial Skelton P e
s il 3 e et iR Hog g L

®) foo 5w et
A) TR .
PRt ol

B-Set 8911 —page-21 CCB-A1



62. Who s the Govermor of Himachal Pradesh ?

(A) Kalraj Mishra

(B) Anil Baijal
(C) Rajendra Vishwanath Arlekar

(D) Bandaru Dattatreya

e 201 & oA P €
(A) wor fas (B) e vt
(C) T fargany AR (D) wers gaBd

. Shimla Agreement was signed in which year ?

(A) 1974 (B) 1972
(C) 1961 (D) 1950
forwen wHgT W EEIER F9 5 ?

(A) 1974 B) 1972
(C) 1961 (D) 1950

What was the childhood name of Swami Vivekananda ?

(A) Siddhartha - (B) Ram Krishna
(C) Vivekanath (D) Narendranath
W f@H=R ® F9H W A o ? ‘
(A) Tzt (B) TEFSW
(C) fadwmy | (D) =AY

- Nalwari fair is mainly associateq with which place in Himachal Pradesh ?

(A) Shimla

(B) . Chamba
(C) Bilaspur

o (D) Lahaul Spiti
T Y3 e e w1 G 2

(A) femen

(C) faarag ®) ==
‘ * L ' (D) wer whfa /
- CCB-21 o
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Directions : (Qs. 66-68) From given options, choose one word which is opposite in

meaning (antonym) to the key-word given in capital letters.

66. FOLLY:
(A) Right
(B) Exact
(C) Mistake

(D) Wisdom

67. SHAME :
(A) Dignity
(B) Glory
(C) Regret

(D) Joy

68. ENMITY :
(A) Agreement
(B) Friendship
(C) Concern
(D) Cooperation
B-Set 8911—page-25 ' BT




Directions : (Qs. 69-72) Outofthe gy, options. choose the correctly spelt word.

69. (A)
(B)
(C)

(D)

70. (A)
®)
(€)
(D)

7. (A
(B)
(€)
(D)

72. (A)
(B)
(C)

(D)

Architecture
Arcitecture
Arkitecture

Architacture

Commitee
Comittee
Committy

Committee

Harrasment
Harrassment
Harasment

Harassment

Compitition
Competition
Compeetition

Compitetion

CCB-21

8911 — page-26
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Direction: (Qs. 73-76) From given options, choose the word-class to which the

underlined word in each sentence belongs.

73. This is a book.
(A) Adjective
(B) Adverb
(C) Noun

(D) Pronoun

74. The train is running fast.
(A) Pronoun
(B) Noun
(C) Adverb
(D) Adjective

75. He could not decide what to do.
(A) Noun
(B) Verb
(C) Adjective
(D) Adverb

76. She is very tall.
(A) Adjective
(B) Verb
(C) Noun
(D) Adverb

D 1-— age-27
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Directions : (Qs.

77. (A)
(B)
(€)
(D)
78. (A)
(B)
(C)
(D)

He knows how to swim.

Shut the light. e
She has given her examination,

Prem asked to Anil why he is angry.

Neither you nor | were selected. |
Twenty miles are a long distance to cover in an hour.
A lot of work remdins to be done,

Mathematics are my favourite subject

77-78) Choose the correct sentence from among the given optigng

Directions : (Qs. 79-82) From given options choose the correct one to fill in the blanks in
the following sentences.

79. S8ign here e, i

(A) with

(C) from

| haven't seen her
(A) for

(C) from

80.

81.
(A) of
(C) with
82.
(A) in
(C) on

Directions : (Qs. 83-85) From given options, choose one word
(synonym) to the key-word given in capital letters.

His father died..................

I am busy just now, but | will join you

(B)

(D) i

(B)

(D)
cancer.

(B)

(D)

(D)

from: - 3

.. amoment.

at
over

which is similar in meaning

83. UNHAPPY :

(A) Timid (B) Dispute
_ (C) Agreea}ble (D) Sad
84. AFRAID :

(A) Rage (B) Frightened
o ;(;)Méll.ean (D) Accuse

(A) R.eputation’ B8) Modes?y

(C) Right (D) Majestic

O ——— i /
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